








Which of the following statement/s about the History of Tamil Cinema is/are NOT TRUE?

L.
I1.
IT1.
IV.
A)

The first permanent theatre ‘Variety Hall’ was constructed at Coimbatore.
The first Tamil Talkie is Valli Thirumanam. , '
American director Ellis Duncan was invited to make Tamil films during 1936.
The film Jayakodi portrays the evils of dowry system. '

Iand IV , (B) IIandIIl

IT only (D) -1II only

g;L&l(Jr) Heflwrellen cugeomny upHlw Spsam embmiseafia erg/ eTena) e ?

L.
II.
II1.

V.
(A)
(€)

s Blrbsy Heoqwuriiad “Ceuany g anme)” Csmubyggnile asu_uuu_@
WPpga sBlp CusD LILLD aueTefl SlmLosamrib. ‘
2Qflés Buaapi aodiey Grise sulifld SariuLid Guisgasnars 1936-myb oy
GUIeLEILPS&HLILI LTI,
GQeuisEamy eTen b S@IULLLD eIFSLFmamunD gHuUHLD Smmeﬁmm (WY} aﬂms;@a‘;lmgf
] wpmid IV - (B) 11 wpmo ITT

IT w1 Gub (D) II wlGib

Who wrote ‘Dasigal Mosa Valai’?

(A) D.K. Pattammal Mpoovalur Ramamirthammal
(C) Neelambigai w-, M.S. Subbulakshmi
srflger Gong cueney eTenm Heney eT(Lpdlwisurt wimd?
(A) g Gs ulLibwrer _ . (B epeugyri prnbligbiomeT
(C) forblems (D) enb.erév. &l el _s18l
Choose the correct answer from the codes given below :
Assertion : The State Department of Archaeclogy and Oceanography Department
of Goa conducted underwater excavation at Puhar.
Reason : - To discover the submerged port city of Sangam Cholas.
{A}  Assertion is correct, Reason is wrong
(RY  Assertion is wrong, Reason 1s correct
Both Assertion and Reason are correct
()  Both Assertion and Reason are incorrect

&G @gﬁ]uﬂl_@mm @HuiGaatadlmng sMumer ellenLamuwis Gg,rrg;@g,@

S(HSF wrflas QAgradlud <iels geapwn, Gsmeur &;L_a)rrr;rrtuacé] Boeuanpbd
L& pesfled Hmaagutia oapmiiey delgen.

STJCHTLD : #hg s Cemrsaflen Lamsbg Gurar ganaps Femrs san By ss opuie)
Qe L.gy.

(A)  smsg e, sTyawid saim)

(B)  smsm seum. sryewnd &l

(C)  smagb, streampb &l

(D) smagb, stramipld Sem
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11.

Birds and mammals attaining greater body size in cold region'than in warm region is
governed by '

Allen’s rule (B) dJordan’s rule

A{C)y  Gloger’s rule (D} Bergman's rule

LDEnEuSET* ohmih - urgnl ysem Qesluwrer uEdeale arpemsede, gefigrer LgHseila
suTDB&TED 2 (Beusdld Quiflwsrs GpaEh erenug erhs elldlaw snibsg?

(A)  yeafler ol (B) mriraflem sl

(©)  Sarmgi A - (D) wLirdiorer 694

Match the following veins/arteries with their transportations :

(a) Pulmonary veins _ 1. Delivery of oxygen poor blood from heart to lungs
(b) Pulmonary arteries 2 Delivery of blood to neck, head and brain

() Carotid arteries 3. Delivery of blood to kidney .

(d) Renal arteries 4 Delivery of oxygenated blood from lungs to heart

(a) (b) (e) (d)

A 1 2 3 4

(B) 2 3 . 4 1
4 1 2 3

D) 2 4 1 3

Eeunib Sleny/ soefl Qeupenp a@@g‘ﬂeﬁ vewityLe Qun(hss) :

(a) mensre fag L Gyrew amy gopps @réssms Qswsddmbs

pleorr@is® aBssé dsdib
(b)  mevyuires gloal 2. &pss. poved LHPD poaEE @QTsssms TBEEE
‘ QFedgyh

() &Gprligl Seny 3. Smbrssdpe @rjgg;‘é,@g, T(D&5)E Qedgylb

(&) Sgpyss Sevg - 4 Ggrew eumy Hleophs Qrisseos pemiraldnss
' BwsdnE a(55)¢ Gedgin
(a) (b) (© (d)

A 1 2 3 4

® 2 3 4 1

© 4 1 2 3

Oy 2 4 1 3
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16.

17.

(@) @S

Select the correct answer from the following :

Wolframite is the ore of

L Tantalum

II. Molybdenum

ITI.  Chromium

iV.  Tungsten

A I - B 11 (Cy 1 v

2 G rannl eramug EGp Qar(pasiulerer aps 2 Ganagdler gl ?
L LMGhTL_Guibd -

II. Lored! L9l @b

L. @Crmblwb

V. LBl G LG0T

a) I (B) 1II . (6 I Dy 1Iv

Match the following and choose the correct option given below :

(a) Lithium ' 1. Actinide

(b) Iron 2, Lanthanide ' -
(¢} Cerium 3. Transition metal

(d) Thorium 4.  Alkali metal

(a) (b) (c) (d)

A 1 2 3 4

4 3 2 1
2 3 4 1
M) 3 4 1 2

Hemeumasameupeny @enamr Gaiga DsDEGE SCW Giasrr@ésa';uul'_@\s‘:rm sflwrer eflepLening Qgfley
AL

1.  @sgeme(y

(b)  @mby 2. orbsmea(h
(c) grﬂmu_b' 3. Qe _fleva 2 Caorrgd
(d) Garflunb 4.  aryeCarsbd

@ ©® © @ |
A 1 2 3 4
B 4 3 2 |
© 2 3 4 1
M 3 4 1 2
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71.

72.

73.

Rutherford’s experiments on scattering of alpha particles by thin foils established that
L most of the mass of an atom is located in its nucleus

iI. the nucleus of an atom has a positive charge

III.  the nucleus of an atom contains protons and neutrons

IV.  the electrons revolve around the nucleus of an atom

Choose the right answer : - :

(A) 1andIll are correct o 1T and III are correct

(C) Il and IV are correct I and II are correct _

Querellu a1 e Bz marGurt( Qelg <dur gsar Slgme G’&rrg,sémuﬁlsin (PIG-CFETITEU G
L amieilen Hlenm ppeugid QUEBHLUTEID SIgm)&s el aeTGer ienion g eTeng.

II. © semssmeiiayear Grrller senid HeowbgleTeng).

III. sensa@melayer yGrmirana@pd Byl prersEnibd 2 serer.

IV. eQas yrensdr o amy&smallaard &bl sHm Lnrremg;uﬁld:u sapevflemment.

sflwren eflen_anw CarbEs0 :
A) Twpmb I sfwrenenau (B) II wpmw I sflurereneu
(€ I womb IV sflunereeu D) T wpgd I sfuraea

A Voltameter is an instrument used to measure
(A) voltage : ™ em.f ofacell
(C) current - electrochemical equivalent

GaurebLmBL_ 1T (186 siener Biemaneud Hmell) eranid &(maed] a:,erra‘jl@sugl
(A)  Henanpssn B) @m Baswgdear Bearalluss clans
C) BanCGarm L b D) WBenGeud Fwmren eremr

The deviation of the charge distribution of a nucleus from spherical symmetry can be
estimated by measuring its

(A)  Electric charge
(B) Electric dipole moment
(™ Magnetice dipole moment

Electric quadrupole moment

Sigdam eenled, Wlemgnri L Lpeuedlenr Gamer @@mammeﬁlm LD aﬂwa;smu gl
Aetreuheuemeudled ergemen emall Geaustw(Hib?

A) Sergriw

B)  Bergn L Gorpeen ﬁ@uu Spen
©)  smps Qoemen Spuy Sper

(D)  enggrL prenapenen lmeiL Smerr
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77

78.

79.

80.

81.

82.

The instrument to measure the growth of plants is ‘
Crescograph (B) Dictaphone (C) Spherometer (D) Spectroscope

grreunréja;éﬂeirr cuariréflanw sjenell 2 se b Hmedl .
(A)  AfewCGandlgm (B) w&LrCGumen N (C) ew@QurGrmSiLas (D)  ewQus CrrevGarl

World Animal Welfare Day is celebrated evawy wanp on
(A) 1t October (B) 3 October 4t October (DY 12th Qctober

<@ GCHTmiID 2 s eilevtti@aaT povpbaeT GETarTLT_LLHeus)
(A) 1 =&sCGumum B) 3 =m&Cmurm (C) 4 =&sGumurm (D) 12 =aGrmuf

The Thomas Cup is associated with
(A) . - Table Tennis : Badminton

(C) Lawn Tennis . s, Snooker

g Garliemu eranLigl erhg eflenamu T (Hen G jenL_wig)?
(A) G 96 Ql_smentleiy ‘ (B) wlupg
(C)  amren Qenatlen (D) evmrsaT

The First Public Service Commission was set un on
(A 15 October 1925 15t October 1926
{Cy 5% October 1927 (1) 27t October 1927

(e uestlumert Gaaumanemmubd rHUBHiSSLIULL )
(A) 1 215G _mur 1925 B) 1s&aGmur 1926
(C) 5=sCLrur 1927 , (D) 27 s&Grmar 1927

A candidate for the office of the President of India should not be less than
(A) 40 years of ag 35 vears of age (C) 38 yearsofage (D) 45yearsofage

GWwres geealt ugeldarar Geul umerfler euu_lg QUILY eTSNES Ganwmoe G(HEsGalemm(ibd?
(A)  40auwug (B) 35eawg " (C) 38euwg D) 45auwg

What is the strength of the new state assembiv of Telangana?

A 117 (B 121 . 119 (D) 118

Qsaurisran wrBodde Curss s Cuyames QgrESHaaisn areimanflama

A 117 By 121 _ €y 119 (D) 118

29 : GS08
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83.

84.

The Science of Dactylography is commonly known as
Ay (Carbon dating (B} Water printing
Finger printing (DY  Electro cardiogram

AdLgen Gardlrm& eiPleflwe durgleuns Geueury ienpoaslinfpib
(A smiuen euwg sanflliy (BY BT 2sflBge
C)  @stras uda) Qaiiged . () Gsw sigliy e euengell

TIMBACC stands for
United Nations Framework Convention on Climate Change
(5)  United Nations Forum for Control of Climate Change

~{€)  United Nattons Forum for Convention of Climate Change

85.

GS08

(D)  United Nations Field Convention for Climate Change

UNFCCC erenuiget 68lflaumseatd

(A)  United Nations Framework Convention on Climate Change
(B)  United Nations Forum for Control of Climate Change

(Cy  United Nations Forum for Convention of Climate Change
(D)  United Nations Field Convention for Climate Change .

I
[ oy

What is the next figure in the following sequence?

1 2 3 4 5 6
(A) %K (B) % (C). %K*
Epanemid suflensuies (H&s UL LD eTgy?
K IKIPKKEK,
1 2 3 4 Y 6
(A) ?K (B) % (©) %K’ -(D)

30




86.

88.

In an election 30% of the voters voted for candidate A where as 60% of the remaining voted
for candidate B. The remaining voters did not vote. If the difference between those who
voted for candidate A and those who did not vote was 1200, how many were eligible for
casting vote in that election?

(A) 40,000 (B) 50,000 60,000 (D) 6,000

am Caigalsny 30% " waser Geul Limerm Aa;@ @l Lallggriadr Bgb o daraiiaaies 60% wéser
Geul_umerit Bag gal_l_mﬂgg,rrrr&m wppeIiEeT wrmEED @l Lalssaoma. Gaulurat Adg
g LaflgsanisEré@n @ GL GurLTsaisEss@h e et edgHursd 1200 eamrd Qhs Carsadla
@l Lafiés s@dudrar QLrss waaer aTssener GUT? _
(A) 40,000 (B) 50,000 (C) 60,000 (D) 6,000

After successive discounts of 12% and 5% an article was sold for Rs. 209. What was the
original price of the article?

(A) 226 (B) 252 250 (D) 269

Qg ser@pugsar wpapGu 12%, 5% aen @amss @ Qummer m5. 209&@ afihaliu’ L g aafld
BT GDIGS efleney aTemen? ‘ '
A 226 (B) 252 (C)y 250 (D) 269

Find the missing term

4 3 3 1 5 2
30 25 T
2 6 4 7 3 4
(A) 20 (B) 14 ) 22 26

Slemaumid UL Sl el TR GTGRT ST

4 3 3 1 5 2
30 25 ?
2 6 4 7 3 4
(A) 20 B) 14 . (C) 22 (D) 26
31 GS08
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91.

- W TR T TR T e T T A .

g2. -

If the volume of the cube ABCDEFGH is 64 cu.cm. What is the shortest distance from
D to E? ' '

G F
D C
H/ E
A B
(A) 42 | 43 © 46 D) &2

ABCDEFGH aenny Qarf&sind e s sgissdlar sar ey 64 san.Cal arafles D wpph E erep
apanensigné@ Gen_Gu 2 cren &6 GaDHS SITLD eTemen? :

G F
D ¢
' — E
A B
@ 42 _ B) 443
© a6 D 8z,

A student looks only the total marks of a 10t standard State Board Public Exam result.
What are the marks required to guess a sure pass and a sure fail?

(A) =175 and <175 >435 and <175
(C) 2200 and <175 «, None of these

e wreweusn 10 eu@ly wrfle Qurgs Csiey gpreysaiid Aorss wHULCGUETSmar W HGWL
urgdlempren. sereLnss Gaied wHmb semgliurss Gemiell eratums whsss CgeeiLiBib
wHLRUswRTEET WpannGL

(A) =175 opmb <175 (B) =435 wpmo <175

() > 200 whmo <175 (D) Copaam_ ggib @dame
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94,

95.

96.

Find the missing figure in the place of ?

BRI I AR e

@ |y ® |1 [ o | "]

? GHAL L QL S&led eu(BLD Lit_SSE ST S

I I ST,

@ || ® |1, © [ o | "]

Which word was inserted to the preamble in 19777
(A Democratic Secular
(C)y Sovereign ) Republic

@b irde &mzyemggls'm wpsliganyuiled 1977-¢ aThs @Jrrr'rgsa;g, Cerasiul L g?
(A)  wesmmld srihs (B) I:Dg;&l‘l’l:l'!_iﬁ]lg[}
C) Qepurarsw QsTaT D) ©rwys

Who called the preamble as the ‘Identity Card of the Constitution’?
AN Dr. B.R. Ambedkar )

N.A. Palkhivala

Ram Manohar Lohia
(D)  Jaya Prakash Narayan

(LP&HEEnTEnILt .gwé]u'c'o FTFEHEIGT /e LI TET DL mL_ &TEHI ) Fa iG] WM
(A Lreio Aoyt sunGugsrr

(B) eeregr. umradeurem

(C)y  ymb wCermani Gaomailwr .

(D) Qg Syasmey HrpmLIeHT
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99.

R

100.

Consider the following statements.

L
1I.

III.

IV.

(©)
M)

State Legislative Councils are continuous bodies.
Members of State Legislative Councils are indirectly elected.
The President by an ordinance can dissolve a State Legislative Counecil.
Actual strength of the State Legislative Council depends upon the strength of the -
State Legislative Assembly.
statements 1, IT and 1V are correct
3tatements Il and IV are correct
All the statements are correct
All the statements are incorrect

e (B0 eurEELBIGM 6T SHeueilse.

L
IL.

II1. -

Iv.

(A)
(B)
(©)
%)

wrbler s wern Guaemuwnang Ggreredlurer é;émmaun@Lb.'

ey gL ey Guaemuuien 2. mnlanisar wappsons CHiHOsHESLIHEDMiTsdT.

B9 LTES HenevelT 2ieusd FLI D apeons, mble &t e GasmiianiL Smersseamtd.
wrbles  #l e SpFan  omlSarseien eramertlsmsany Qurmds, CuweaeiuGen
2 plent arairantiEans WwrmiL (HLD.

I M inpmnd IV surgdlwmiser afluimesensy

I wipmn IV eungdlusdser sfiwmeranen

Sienarggy eunslwikisEnGu sfluretame

lenetiy aunSALRISEEED HeumTemeansy

Consider the following statement.

L

I1.

(©)
)

In case of dispute, over a bill the constitution provides for a Joint Sitting of the
Lok Sabha and the Rajya Sabha for solving the dispute.

There is no constitutional provision like Joint Sitting of the State Assembly and the
State Council if there is a dispute between them over a bill,

Both the statements are correct

Statement I is correct but statement Il is incorrect
Statement I is incorrect but statement II is correct
Both the statements are incorrect

Dema(BLd euTEH L RISHnaT Heueds.

I.

IL

(&)
®)
©

)

s LGFTHT Bg PpraTUL L S(HSSIGSET @@a;@(?mmnmrrw [BINL_T(@EHLDGHD, LD&ESETenaU DH)LD
wrflokisameea @rarhin sl oinreflar apawn Siey smaw Dirflud <BIEDIDLIL GUEHE
Qerdigemeng).

mnﬁmm&aﬂm &[_Lmsmg)g,gm BrSTH  HMEUSEHES @ml_(‘m_l e wGsrgr  GHss
pISTULL. &058 QHSGELWIETD MNgamend saanu s () <DLD G &ETEen Gu@mmaa
STHENETIYLD HTFWeanollL] GGl dene.

Grewr(h cursdwnisierGun sflurananal
I eurgdiund eflwrengy 11 eunsfiunh geupreang
I curgdiwnd seupreng I eunadluib aflwimeng
Giran( cursadhutsErG Sauprarana.
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